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1. Specification Review
1.1 Stage 1000

<Activity 1003. Define Requirements>

e Activity 1003. Define Requirements
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2. Performance Requirements
- Bt CIAIE AlA2F Bl 2ot =2t 7|5 QIEHO0[AE XS O0F BHo
- HIE 27t ARESH2] 42 OF ghet

- A[ZHO[L} 2= M E9] XS

rot

i

| 2 3}3HOF Bhct

=> AKX AlAS] HEE I = t&E50{ 7|5 QUEHO|AE FEstR7| =0
BEuM &S +Eat A

<Activity 1008. Define Business Concept models>
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1.2 Stage 2030

<Activity 2031. Define Essential Use Case>

e Activity 2031. Define Essential Use Case
Use case 2. adjustTime2| Typical Courses of Events
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Typical Courses of Events
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Use case 4. setTimer2! Typical Courses of Events
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Typical Courses of Events (A) Actor / (S) System
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Use case 11. addAlarm 2| Exceptional Courses of Events
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Use case 25. modeSelect2| Typical Courses of Events
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Typical Courses of Events

(A): Actor / (S) : System
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<Activity 2035. Define System Sequence Diagram>

e Activity 2035. Define System Sequence Diagrams
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1.3 Stage 2040

<Activity 2041. Design Real Use Cases>
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Use case 17. recordStopwatch 2| Exceptional Courses of Events
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<Activity 2042. Define Report, Ul, and StoryBoard>
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2. Category-partition Testing Report

2.1 Test Case

2.1.1 Testable Units and Representative Values

|__group | _category | _value Il group | category | value
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input
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Button
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timesetting
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timersetting
alarm
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Mode select
sleep
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none
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0
push 1
4
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invalid date
invalid month
inpit invalid year
data valid date
valid month
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eclipse
invalid sea
east sea
west sea
south sea
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2.2 Testing Result
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3. Pairwise Testing Report

3.1 Testing Case
3.1 Testing Case

™ emionmen | daa~| 1 buton

sleep time start tide
common date adjust moonphase
- sea mode timerunning
- - reset setting

- Environment: MFEE / YEtE =
- Data: §0{2 & data2| type

- HW button : S&t 7} 58 HE

- Mode : setting mode2+ time-running mode, 37}l tide?t moonphase 915 2| £4

3.2 Testing Result
3.2 Testing Result

environment Data HW button mode result
1 sleep time start tide P
2 sleep date adjust moonphase P
3 sleep - reset setting P
4 common date mode setting P
5 COMmMon ea reset tide P
6 common - start moonphase P
7 COmmon time adjust timerunning P
8 - - adjust setting P
9 time mode tide P
10 date reset moanphase F
11 - mode moonphase P
12 = time reset timerunning F
13 - date start setting P
14 - sea adjust tide P
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4. Brute Force Testing Report

4.1 Testing Result

n smaB-20 : R.6.0 Alarm 25 S99 o, modeSelect ¥ Alarm 25 8§25 9, modeSelect® HOiE LIRS B
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2031. Define Essential Use Case

Use case 25.modeSelect
Actor User
Purpose User7l 67128 7|5 & 471E MEISH HEQZ 2 E

0|0l 7ts3tH| Etct.

Overview User7} HE S £{Select 3tHO 2 S04ZH &, Al7H| 2]
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Type Evident
Cross Reference Functional Requirements : R.6.0
Pre-Requisites Alarm=2 E 7} ofL|o{of 8tC}.

2041. Define Real Use Cases

Use case 25. modeSelect

Actor User

Purpose User7t 6709 7|5 & 471E MEHS HESZ 2 E
0|=0| 7ts35tAH JEL

Overview User7} HE S =4Select SP':HOE E0{7t &, A|A 2
HEE2 0|83 47Ix|2] 7|s2 HMRMo 2 ZE}

olgE + UT = Bt

Type Evident

Cross Reference Functional Requirements : R.6.0

Pre-Requisites Alarm 2 E7} O}L,IO-|0|= stct.
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